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(- )R 4% 1:S04% (ag)+Pb(NO3)2(s) —PbS04(s)+2NOs™ (aq) (10 4)
AR 2B~ f_z,\ FeSO,7H,0 #k & 2.02 5 > F & ¥ 1 FeSO,7HL0
,_2.02_ 40 L
SO+ 575 %X5509=1.45%x103(mol)
Pb(NOs)2: 1.45x1073x331=0.48(g) (10 4)
0.48x2=0.96(Q)
B8 3 +itk) 4 £ =42.93(9)
45 £ = 42.50(0)
PbSO4 & =42.93-42.50=0.43(Q)
0.43
SO4*":353=1.42x107%(mol)
[S04%7]=1.42x1073/0.04=3.55x10"2(M) (10 %)

B 4T 4: MNO4~ +5 Fe?* +8 H* — Mn2* +5 Fe3* +4 H,0(10 4')
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MnO47:16.4 mL
Fe?":0.02x16.4x5=1.64 (mmol)

1.64 B
[Fe?']=—5-=3.28x10"2(M) (10 4)

B 4% 6: 3.55x102—3.28x1072 =2.7x1073
(2.7x1073/3.55x 10 2)x100%=7.61%(10 4)

(= )1 (30 4)

(2)d =& EEF3T IS4 (10 4)







